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Fhd thc wavdcngth of a wave (ir rrcters) whost fiequcncy is 3.3 Ez ard
which travcls at l0 metcrs/second Errts a numerical aflsw€r.

{all urfbE$ rmqx€nr! slF,d ti.trd.Dr,ip

llh.ehrgdr.Fnqumy" Sperd fu latioruftip

Eertz), and speed iinmeterslsecond) of fris wavc. E"t";;;X;

ffit*tt - B*t A *dBoat B' are anchored a tlistrace of 4'1 mctus

apart. The irconing watd wv6s forcc thc boats to-os**t.T 
3d, f*'

making five complctc cycles tvcry 26'1 scconds' Whcn Boat A is tt its

peak" ioat B is at its low poinl Thm are never my waves betsten thc

ioats. Tlre vcrtical dstmcc bctwem Boat A md Boat B et drcir

cmc is 6.9 mekrs. Dctemins *rc mvtlengtr (n neten), frequency (in

Hertz), md speed (n meterslsecond) of the wave ' Enter mnnericat

(flINT: be gin with a fiagrm)

{F*.**l

$+"rereri,-[Irt rleouncr' f--_liu sJ'"*'j f-_-l urs

A p.h.* t- ,tthS * frt P""h in the harbar as cceur wavcs come sphsling

in' The ctsts of-fr. *"u.t drench the peficm as it collides wifr its puch-

drenehings oecur evcry ?.40 s€conds. The crests uc positioned 6 30

rs apart betermine the wavelength (in metcrs), frequency (in Htrtz)'

speed (in metenlsccmd) of ths wave. Eltc mmtrical answm'

**.**!

tt'+eierurir-l-fln, F,tq'renc'-l-_--ltL: sp"eu-l--__l

A wav.r i1 creatcd in an €lasti, ;@'-
map-$hot 0f thr wave at a givm inrtmt of tine. Thc .frrrJ" t.* prirn a
to points B md C are givcn point A on &c wavc *oues to C. ooriioo ot
point B in 2.90 scconds. Determinc the wwelmgdr (in ,r;";t;;;*.y

*,4'!4 gi1nlt41i. FEs nfff slrtd R'biitBh,T

Find the spced of a wave fin metm/secon$ *'hosc wmelengti ii 4 mtteffi
vfiose frcquency is 3.J Hz Enter a mmerical mqncr.

{ wave ydr a frcquency of 5.6 IJz is .@
fafal belw rtprtsflts a map-shot of the wave ,t . gu* 'i*t.ot 

of m..
Drtermine thc speed of fte wavi (in metffr1s.*ond1. drt ru o*.ri.rt

15.9 m

{ht4 Etnekngrh !*qunJ sFeeri Eri6li0Nhis

\\'au'etengt=[-**.lrn Frrquenry=l-__l tu speed= [--l rros
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occrus wfien a rzve
a. crosses over a bormdlry into mother medium

mccts up with mother wave keveling in dre sarnr medium
changes directiol when passing from one medium to anafier
bormce s offa surface

reaches dre end offu medium
cncounters aa obstacle in its padl

%the sune medhtrn:
The di*gram bclow shows two srre

,;;;"itto ;;tt the mctliun an label"i with lettert The dirylaccment

cf the resultant wave patrcm at pomt J would be approximete$ 

- 
*itt'

;. o b' +1 c'+2

+3 e.+5 f,-1

"; h.-3 i -5

@ Destuetive intcrfer.o". *offi
,rpr,ab"ti.d o;do q,irh;;.i*,T,ffl,1 *;.l;t*fl,fat +rv r,

a" hough of otc wave interferrs wifr a korg}, of *;;; ;b, crest of one wave intetfcres rvifr g crest of aao$a wavec. uest of one wave interferes wi*r a hou$ of anodrer waved. none ofdtese

!4&ii hrrrfrem.of$/dr1

Thq diagm below right shows two pulses - a sqwe pulse md a sinr pulse
- approaching each other along the sare medium^ Shich diagram shows

drc shape offire medixn when d-rey are completely intetfcring?

DnrgmD
..-i+--i-

$,116 hterh**e llY'rser

%infte srncmedhmr;
The diagam below show two sn

.*Jff; il tr" *'ai*' o' rut:':l T* l11' l' :T:l"t#'
does coastuctive interfttence octur? ilst all *rat apply in alphabetical

orio *tU, oo .o*as or spaccs bctwe eq ltters'

\lhid InbtLr"ilrotlliamr

c. ctcst of one wrve interf€ras with a erest of another weve

d. none ofdrsse

interference would occur vthen a 

-. 
List dl that apply m

order with no commas or spaees between ldters'

houglr of one wave intsrferes rrith a hough of mother wave

rrest of ofle wave interfue s with a hough of mother wave

1T1
ABC

\llii lniexfefnie tf \liflai

Th. dirgt*t b"lo* shows two sine wavts presmt in thc srne redilrn;

several foints alolg the mcdium are labeled with lctten' Tht displaccmtnt

&e resrltad wavc pattern at point O would be approrinetely 

- 
units'

DiagroB



nI lt
\N h\f5 9ttbleucl t

\{M: l!'hihenriirs oi Sieding llk{rg

\AIAtJ 'v 
S'- Etlblcvt (

starding wave is creatsd in a 3.0-mehr long rope by vr'brating the rape 5l

in 4.1 srconds. The diagram below repres*nts the standing wave

created for 6is fre queney. Detcrmioe tbc wauelength {in meter$,

frcqucncy (in llertz) and sleed {in mrters/second). Entcr ruunerical

answus below.

{\U+-^
1\inelnnerir '. I I nr Frpquenr..

A standing wave is srBated in a 1.8-mcter long ropc by vibrating ft; rope 62
times in 10.4 scconds. The diagram below represents dre *ar,liqg wau..
paftcm creatrd for this frcqucncy. Dettrmine *re wavelengft (rn metersi,
kequency (in Hertz) and spced (m meter#second). Enter nunerical

0

bclarry.

^"--

wavelength $n metus), frequarcy (in l{ertz) and slted (in neters/secondi' 
I

Enter numerical answen below. t

I
I

\\nelenglh l--_-lu lit'lurnrt'l lfu \peP4 | I 
II

lli!ft llai[ematicr rf ltudiry ]Jrw*ltrtll lghihtnatiff rJ Studing !Ja$$

A standing wave pattr- i. "t btirh.d iol*p.iltGiliiiJitill
wavelength is 1,2 metcrs, then thc rope is _ meters long. Entcr a nurnbcr
into dre answer field.

rtd" ft. tt-dttg *-* pattcm shown below' Thcre rc 
- 

nodes md

antinodes shcwn on dre pattern Enter yoru answers in respectfue orilo

ii-tro integ*s with no sPaccs or comms betwem numbcs' For cxmple:

'63' and'88'

A stmding wave is creatcd in a l-9-mcter long rope by vibmting thc ropc 76
iime s in 9.9 scconds. Tht diagm below rcprcswts the stmding wave
paScm created fu this frequency. Detemine the wavelcngth (in meters).
frtqumcy {n Eertz) md speed (in mctcrslsecmd). Elter nmaical
ansqrqrs bcjow.

ler the stmding wav. prtt@
io t dy'* poht A is separatcd &om point r h;;;;#"'""drsterc€ equivaleilt to _ wavelengths. Enter e munbril;;;;*.,

field

1.tr4,11 l\irt}rrotim of liimrling \laves

fte standing wave pattern shown bclow. Thqc are scv"ral labclcd
on the dirgmm. Point C h sepuatcd from point L by a horizontai

rquivalcnt to _ wavclengths. Enter a ruaber into the answer

URf Miihimldri uf Studirgllaer

A yormg gir{ comrects a rope to a tet and uibrates the free cnd in ordcr to

establish a stmding wavt paserr" The pattera is shown in the tliagram

There are 

- 
waves in ftis pattern, stetching &om dre girl's hmd

thc hee . Enter a mbcr into the answer field.

iltfi t{alhrmriri rl Slrn{h{ ll'sc}

urd fill create a standing wavo prttcm in a slinLy by vibrating the

24 timcs [.e.,24 conrylctt vibrational cytlcs) in4.8 sccontls' Tht

contains tlnte loops betweer fte ends of the slinky (tfoe Sbd

ic). Th rlinky is sbetchcd to a leflgth of 3.T metcffi. Dttennine the

1,1 U ]!trnrhenatis{fsl4ditq{/'ser

a mrmber iato *rc answcr field.

Jack and Jill creatc e strnrfing wave pattem in a slirky by vibrating thc

slinky 27 times f.e., 2? complctt vibrational cycles) in 19'l seconds' Thc

contains one loop bctween tle ends ofthe slinky ithe fost

ic). Thc sfinky is shetched to a lmg*r of 4'6 meten. Detmire the

(in metcs), frequcncy {in Hertz) urd specd {in mcters/sccond)'


